
Multiply by Powers of Ten (A)Find each product.
5.3 × 10⁻¹ = 1.4 × 10³ =
7.844 × 10⁻³ = 4.386 × 10⁰ =
4.743 × 10⁻² = 8.215 × 10⁻² =
2.6 × 10³ = 2.1 × 10² =
7.424 × 10⁻² = 2.1 × 10⁻³ =
2.27 × 10² = 4.396 × 10⁰ =
3.47 × 10⁻³ = 8.142 × 10⁻¹ =
8.4 × 10³ = 0.73 × 10² =
0.9769 × 10¹ = 1.33 × 10³ =
5.6 × 10⁻¹ = 1.33 × 10⁻³ =
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Multiply by Powers of Ten (A) AnswersFind each product.
5.3 × 10⁻¹ = 0.53 1.4 × 10³ = 1,400
7.844 × 10⁻³ = 0.007844 4.386 × 10⁰ = 4.386
4.743 × 10⁻² = 0.04743 8.215 × 10⁻² = 0.08215
2.6 × 10³ = 2,600 2.1 × 10² = 210
7.424 × 10⁻² = 0.07424 2.1 × 10⁻³ = 0.0021
2.27 × 10² = 227 4.396 × 10⁰ = 4.396
3.47 × 10⁻³ = 0.00347 8.142 × 10⁻¹ = 0.8142
8.4 × 10³ = 8,400 0.73 × 10² = 73
0.9769 × 10¹ = 9.769 1.33 × 10³ = 1,330
5.6 × 10⁻¹ = 0.56 1.33 × 10⁻³ = 0.00133
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